Note: Apart from the marking instructions, a teacher can evaluate at his discretion.
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Marking Scheme-Model Test Paper 3
COMPUTER SCIENCE (CPU)
(SUBJECT CODE: 906)

Class- 10th

Maximum Marks: 40 Time: 2:30 hours

General Instructions:

NOTE: The question paper is divided in to four sections (A, B, C, and D)
i) SECTION A consists of 10 Objective Type Questions of 1 mark each.
i) SECTION B consists of 5 Very Short Answer type questions of 2 mark each with Internal Choice in

anyone question.
iiii) SECTION C consists of 4 Short Answer type questions of 3 marks each with Internal Choice in

anyone question.
iv) SECTION D consists of 2 Essay type questions of 4 marks each with Internal Choice.
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SECTION A
(Each part of the question carries 1 Mark)

Q1 Which sequence of HTML tags is correct? 1
HTML &8 & &ld a1 %A Ter 87

a. <html><head><title></title></head><body></body></htm|>
b. <html><head><title><body></title></head></body></html>
c. <html><head><title></head><body></body></title></htmI>
d. <html><head><title><body></body></title></head></html>

Ans | a. <html><head><title></title></head><body></body></htm|>

1 Mark for correct identification of Sequence.

Q2 To add rows to a table, we use Tag in HTML. 1
oY eoel & UfFaal s & fow, g7 HTML & &I T 3T I g
a) <R> b) <TR> c) <TABLE> d) <TROWS>




Ans

b) <TR>

1 Mark for correct identification of the tag.

Q3

MS Access is __ type of software:

a) Database b) presentation c) E-spreadsheet d) Text editor
THTY T8 YR & iFea: ¢

T) SeEE &) deieed @) s-miseie 3N e X

Ans

a) Database U) scred

1 Mark for correct answer.

Q4

Which of the following is not a type of computer network?
a) LAN b) PAN c) DSL d) WAN
PR & ¥ P & SR Acad N TF THT AG 2

T) ol ) %1 ) siegua M a

Ans

c) DSL ) Sreaud

1 Mark to identify the correct option.

Q5

<TITLE> Tag is used to define .
<TITLE> 3T &7 399T FI gRANT = & T fFar arar g

Ans

the title of a web page.

1 Mark for writing the correct use of <TITLE> tag.

Q6

In MS Access the view allows you to define the field

names, data types & other properties of a table.
TATH TFAE H g 9T el & Hles oA, ST TR
3R 377 it @ aRend axa B At o 8

Ans

Design View

1 Mark for writing the correct answer.

Q7

HREF stands for Hyper Reference. (T/F)
TUREUE FT Adeld gIBIR W gl (/318 7)

Ans

True ST

1 Mark for correct identification.

Q8

A web server is a computer program that stores & serves web pages to
clients upon request. (T/F)

I WA U HYY WA § S AEhi & Y W AT 9ai 1 Fda 3R
AT Y&Tel LT B (TT/37)




Ans | True qca
1 Mark for correct identification.
Direction for questions 9 & 10: In the questions given below, there are
two statements marked as Assertion (A) and Reason (R). Choose the
correct option out of the choices given below in each question:
g 9 Ta 10 & fow cen: A few a1v geat #, T (A) 3R FROT (R) &
w0 # RAEad aF a0 1 I3d 92T H A QU v fawedt # & T&r faweq
FI I ST
a) Both (A) and (R) are correct and (R) is correct explanation of (A).
b) Both (A) and (R) are correct and (R) is not the correct explanation
of (A).
c) (A) is true but (R) is false.
d) (A) is false but (R) is true.
a) (A)3R (R) al F&r & 3R (R), (A) ST T T&am Bl
b) (A) 3R (R) &l wEr & 3R (R), (A) & Tér =grear gt &
c) (A) & g dfhet (R) 38T Bl
d) (A) 38T § dfeheT (R) dT &l
Q9 Assertion: A good Computer Networking solution can be very much
beneficial for your business.
Reason: With computer networking you can cut back on costs & allow for
efficient use of resources.
HRRYA: Teh 0T FYX Acdfchel HATUT IS Fadd & T Tgd
BIRIGHG 81 Hehl &l
HROT: Y Acdichdl H 3T ol H FHeldl T Tohot & 3R FAT=T & FH2AT
39T AT AT & Fhl |
Ans a) Both (A) and (R) are correct and (R) is correct explanation of (A).
a) (A)3R (R) =t |ar g 3R (R), (A) &I ¥ <arem gl
1 Mark for correct identification.
Q10 Assertion: Internet is Network of Networks.

Reason: HTTPs is a secure protocol.
ITAFYU: el Acas! ol sicds gl
HROT: HTTPs Us FIaTd ekl gl




Ans | b) Both (A) and (R) are correct and (R) is not the correct explanation of
(A).
b) (A)3R (R) &l &E & IR (R), (A) 1 HeY sarear el &
1 Mark for correct identification.

SECTION B
(Each question carries 2 marks)
Q11 Define CELLPADDING attribute of TABLE in HTML.

HTML & TABLE &I @erdfser Tigege s g &l

Ans | The HTML <table> cellpadding Attribute is used to specify the space
between the cell content and cell wall. The cellpadding attribute is set in
terms of pixels.
Syntax:
<table cellpadding="pixels">
Example:
<table cellpadding="51">
HTML <table> @erifSer faer &1 39T Aol HHA 3R Fel AR & dra dr
S9E @l fAfdse e & v famar arar 81 Gedfser fawdar e & dast
¥ &1 7S B
e
<table cellpadding="pixels">
3cTeoT:
<table cellpadding="51">
2 Marks for any correct definition of CELLPADDING attribute.

Q12 How comments can be inserted in HTML?

HTML # fecaforar & srelt ST ehdr 872

Ans | The comment tag is used to insert comments in the source code.

Comments are not displayed in the browsers.
Example:

<l--This is a comment.-->

feoquil &9 T 3UAeT W SIE # feouforar gfFAfaa e & T Rar Srar
¥ Roaforaf sE3eR & wefdia =g g &




3aTgur:
<l-Jg ws ool §.-->

2 Marks for any correct explanation of comments in HTML.

Q13

Name any four types of Computer Network.

FFYET e & gl IR YRl & A7 dasd|

Ans

Types of Networks
1. PAN (Personal Area Network)
2. LAN (Local Area Network)
3. MAN (Metropolitan Area Network)
4. WAN (Wide Area Network)

Jeddh & THR

1. PAN (98del URAT sicae)

2. LAN (dllshel URAT sicdeh)

3. MAN (FgifelesT TRAT sieadh)
4. WAN (arss TRIT Acah)

1/2 Marks for each correct Type of Network.

Q14

What is Ransomware?

IAEHATI F1 872

Ans

Ransomware is a type of malware that can lock your files and computer

and then demand a ransom for its release.
TEARR T JHR F HAI § AT 3700 FIsar 3R FogeT o died
e & 31T T 38 Rele o & fow Iy i &1 a7 @onar B

2 Marks for any correct definition of Ransomware.

Q15

What are two parts of E-mail address?

$-A USH o &l HMT &l ¥ 872

Ans

An e-mail address has two parts separated by '@' symbol :

Username — On the left side of @ operator is the username.




Domain name— The portion to the right of @ identifies the server or host

or network that services our e-mail.

inform@gmail.com

7 T T

Username Domain name

Separator

T $-Hel 9d & &l HHET 8ld & oo '@ &g & 3791 foham ST &
3YANTRAT AT - @ 3TN F 1S 3R STARTHRAT ATH g

NAA AH- @ F &5 IR FT AET 3H AR AT §I¥C IT sicdh T UgdleT Tl §
ST gAR §-Ao Fr Jar T &l

2 Marks for correct two parts of E-mail address.

OR

What is URL?
JINT FAT §7?

Ans

URL stands for Uniform Resource Locator. It is a web
address that points to a specific location on the internet.
URLs are unique for each page.
URLs can be accessed through a computer, tablet, or
smartphone's web browser. The user enters the URL into
the address bar.
The URL includes the following details:

= Name of the protocol: A colon accompanied by a

double forward slash: (//)

» Hostname (name of domain) or IP Address

» The file’'s path
Example: https://abcd.com/full-form/
Protocol - http
Domain - abcd.com
Resource path - /full form




IRV AT AdAS JiABA A ellehe §| T§ Teh a9 Il ©
S Seeie W T AfASe U1 Fir 30K SART T &1 I
7S5 & AT PRUA efacy &

LIRTA AT HYX, AT IT TALDIA & e SBEoR o ATEIH
¥ g far ST HehaT §1 3TANRTRAT U3H IR A IIARTS gof
T &l

IIRTA H fAraAfei@d faeror enfAe g

0 YICIhicT T AH: STl BIRAS Toiel & AT T HieleT: (/)

0 8T (SMAA T ATH) IT ISUT Iar

0 PISeT &7 T2T

3cTguT: https://abcd.com/full-form/

gielarel - http

SIA«T - abcd.com

YT Y - /qUT g9

2 Marks for any correct definition of URL.

SECTION C

(Each question carries 3 marks)

Q16

Define the following: a. Hackers b. Crackers c. Identity Protection

[ArAfaf@d &I aReNT & a. g8 b. kT c. Mgsfedy W

Ans

Hackers: Hackers are good people who hack devices and systems with
good intentions. Hackers are very skilled and intelligent people. They protect
the data and never steal or damage it. They help improve a network’s
strength. They always have legal certificates for hacking.

Crackers: Crackers are people who hack a system by breaking into it and
violating it with some bad intentions. Crackers harm an organization. These
are illegal and unethical types of people who only focus on benefiting
themselves with their hacking. They usually steal, delete, corrupt, or
compromise the data they find from a system. They harm and deplete a
network’s strength. They usually don’t have any certificates as they are
unskilled.

Identity Protection: This is a way to protect our identity from being stolen
by using some secure methods while using internet.

TR 3T 3= 9T B § S 3= el & Ay Barsy 3R R{eew & &+
Fd §1 §hE Tgd & Hud 3R JEfee der g €1 3 Sar i gRam aa § AR




38 F3l ARy 7 &7 AL G| F Acad T dhd H GG Sellel H Hag I
1 3o T8 AR gfder & T S gAmoTT g gl

FHA: Shehdl T W B § S fohdl A & @Y oee 38 g i ¢ 3R T
R el ¥ AT oot A &1 T fhell Harsad # JHdAE ggard & F
3y 3R IAfAF gHR F oler § S e Bfdher & dhaer ge B wrIer g
W T Hfed FA g1 F AR W freh red @ @ ser a1 d €, gerd
g, oS¢ Y § I FHSIAT I &1 T Acash I AT gl § 3R 3HhI drehd
& GeH A &d Bl AHAR W 3eTeh I HIS YATUIS AT gl Fhifeh I Hperel
gid &l

ISt WRFA: Tg ST H IUANT I AT FS GRI&TT ALehi T 3T
Fh YA T BT AR gl ¥ TN FT T e g

1 mark for any correct definition of Hackers.
1 mark for any correct definition of Crackers.

1 mark for any correct definition of Identity Protection.

Q17

Define <p> tag. Write HTML code to create a paragraph whose text color
is green.

<p> &I A IRFVT FHY| T REAME Fa4 & fow HTML Fis ol foraenr
TFES T &1 g

Ans

The <p> tag in HTML defines a paragraph. These have both opening and
closing tags. So anything mentioned within <p> and </p> is treated as a
paragraph.
Syntax:
<p> Content </p>
Example:

<p>Computer Science is a good subject.</p>
HTML & <p> 31 Tsh REMF FI IRIMT FHar &1 98 3Ngfer 3 Fafsior
gt &1 g1 safaw <p> 3R </p> & iR 3feaf@a xRt off O +r
R & T F AT ST B
faeTa:
<p> GrHIAT </p>
3qTeUT.

<p>FHTYN WgH Uk 3ot AT §i</p>

HTML code to create a green color paragraph:
<html>

<head>

<title> green color paragraph </title>




</head>
<body>

<p style="color: Blue";>Blue paragraph text</p>.
</body>
</html>

<html>

OR

<head>

<title> green color paragraph </title>
</head>
<body>

<p> <font color="green"> This is paragraph of green color</p>
</body>
</html|>

1 Mark for any correct definition of <p> tag in HTML.

2 Marks for correct HTML code to display a paragraph whose text color

is green.

Q18

What is Database? Write advantages of DBMS.
STad T g2 DBMS & ome faf@uw)

Ans

Database: A database is a systematic collection of data that is stored

and accessed electronically. Databases can contain any type of data,

including: Words, Numbers, Images, Videos, Files.

A database management system (DBMS) is software to create and

manage databases, allowing users to create, read, update and delete data

in a database.
Advantages of DBMS:

1.

© N DO AW N

Minimum data redundancy.

Improved data security.

Increased consistency.

Lower updating errors.

Reduced costs of data entry, data storage, and data retrieval.
Easy and fast data access.

Higher data integrity.

Proper management of data.




3T ST ST & Ueh Haedd HIg ¢ oI Selaclield ®9 & TIgd 3R
TFad fRaT STaT €1 Seed 7 T o 9eR T ST @ dehdl &, o enfder
g orsg, gEan, ofadr, aifsal, el

s yaue gorrel! (SdvATd) seed g9 iR 6fd e & T digea®w
g, ST 3UIRTHAT3NT F 3T H 3T Foll, Ugat, 3UST A 3R gerd Hr
3FATT & &

AdvATT & AT

. 7geIdH 3T AR |

. 9§k 3T e

. 3egae AT HH |

. 39T 3R a9 Ser tFad|
. 3T 3T 3Wsdl.
. 3eT &1 39 yeye.

mark for any one correct definition of the Database concept.

1
2
3
4
5. ser gfafSe, 3er #2rur 3R 3T YANTST Hr FA ofrerd|
6
7
8
1
2

marks for writing Advantages of DBMS.

Q19

Differentiate between wired & wireless communication.

s 3R aRREE TIR & $F 3R §d17|

Ans

No Wired Network Wireless Network
. “Wireless” means without wire,
A wired network uses ) o
. . Wireless communication uses
cables, wires, or optical )
1. i electromagnetic waves to
fibre to connect the L .
) transmit signals through the air or
devices.
space.
Faster transmission ..
2. Slow transmission speed
speed
Propagation delay is . L
3. Pag 4 Propagation delay is high

Low




4. Mofe Secure & hence Less Secure & hence less Reliable
Reliable

Devices must be hard-

5. ) Installation is Quick
wired Q
6. Less Expensive More Expensive
- High installation & Low installation & maintenance
’ maintenance cost cost
g Hub, Switch, etc. Wireless routers, access points,
" devices are used etc. are used.

3 marks for correct Differences between wired & wireless communications.

OR

Explain the following: a. LAN b. MAN c. WAN

fArafaf@a & Tose &1 a. LAN b. MAN c. WAN

Ans

LAN (Local area network): A local area network (LAN) is a computer
network that interconnects computers within a limited area such as a
residence, school, laboratory, university campus or office.
Characteristics of LAN:

1. The coverage area is generally a few kilometers.

2. we can run multiple devices to share a transmission medium.

3. we can use the different topologies, mainly bus and ring, in LAN.
4. The communication quality is better IN LAN, and the transmission

error rate is low compared to WAN.

5. It has usually had low cost, installation, expansion, and
maintenance.

MAN (Metropolitan Area Network): A Metropolitan Area Network (MAN) is
a type of network that covers a larger geographical area than a local area
network (LAN) but is smaller than a wide area network (WAN). MANs
typically cover a city or a large campus. They connect multiple LANs
within a specific geographic area, which gives high-speed connectivity.
Characteristics of MAN:

1. MAN cover a larger geographical area, such as a city.




2. MAN gives high-speed data transfer within the defined geographic
area.

3. MAN are created with multiple LANSs.

WAN (Wide Area Network): A Wide Area Network (WAN) is a type of
network that covers a very large geographical area, such as cities,
countries, or even continents. WANs connect multiple LANs and MANS,
enabling communication over long distances.

Characteristics of WAN:

1. WANSs cover a large geographical area, connecting networks over
very large distances.

2. WAN facilitate communication between devices and networks that
are far apart.

3. WAN use various technologies, including satellite links, and internet
connections, to establish communication over wide distances.

LAN (ellehel TRAAT Acash): dltehel TRAT dicds (LAN) Ueh Seged Acash g Sl
Teh AT &7 S =, Topel, G, faeafdedrery aRE ar s &
FIC P A F AT ¢

LAN Y faQyand:

1. Fa¥sl &7 IH dR W Fo fhelidie g gl

2. §H U TTHLST ATCIH H A8 el & o &g Zasa gor T&d gl

3. A LAN & faffiee SIoieilol, #ed &9 & 59 3R Rar &7 392097 X Fehel
el

4. LAN & HaR I[UTadr Sga¥ it &, 3R WAN T Jorer # graffies e &
A I g

5. 3G 3MHAN W HH dFd, TA9AT, {EaR 3R TWREE g r g

MAN (Reifaed TRAT Aead): Teh Aol URAT Acash (VHAUTS) Uh
Y T wicde § Sl TUENT &1 dAcaeh (ofe) & Jelell H Teh 99 siaforn &
HI FHal AT § olfehe] Teh AT$s TRAT Acash (SsegUT) H BIeT §l THUTA
IAAR W TH AT IT Th §3 YRIT H FaR X &1 9 T faftrse simfos
8T & MR F JF A A &, I 3=u g FATFefadr &ar g
MAN #r faetvar:

1. MAN T &3 $fiafors &7 & Fat T §, o F ' &

2. MAN gRaia stnfoe &7 & iax 3Ta aifa 3er geaiaRor o g

3. MAN &5 LAN & @I §TC S &1

WAN (arss TREr Aead): Tah arss TRAT scdd (WAN) Tdh YRR &l Acas g
S e, XMt AT FgT A Toh Fgledldl S §gd 99 STl &1 I sl Il




g1 SseguUA F3 o AR TATTA @ Sisd §, T de gt W HER 6eTA
g &

WAN #r fadware:

1. WAN T &3 silaiifoleh &1 &1 o X §, S 9gd 931 g8 W wAcash &l
s &l

2. WAN 3o 39etult 3R dleadh & o FuR &1 giaur Jeled Hiar § St sged
T &l

3. WAN s gt W IR T ¥ & fav 3uarg foie 3R getle
Foial Afed faffiea dereliepl $T 3UANT FIAT ¢

1 marks for each correct definition of LAN/ MAN / WAN.

SECTION D
(Each question carries 4 Mark)

Q20

Explain following tags in HTML: a. <HTML>b. <HEAD> c. <TITLE>
d.<BODY>

HTML &7 fa=faf@a &1 @@smsa: a. <HTML>b. <HEAD> c. <TITLE>
d.<BODY>

Ans

<HTML> Tag: This tag is used to tell the browser that it is a kind of
html document. Opening tag <html> is written on the top and closing tag

</html> written in last of the document. The <html> tag is the container
for all other HTML elements

Syntax:

<html>...e.. </html>

<HEAD> Tag: It is used to represent head section of the document. The

<head> element is a container for metadata (data about data) and is
placed between the <html> tag and the <body> tag. Metadata define the
document title, styles, scripts, and other meta information.

Syntax:

<head>....... </head>

<TITLE> Tag: The HTML <title> element is used to define the title of the
document. The <title> element must be placed between <head> element,

and one document can only have one title element.

Syntax:

<head> <title> title name </title> </head>

<BODY> Tag: HTML <body> tag defines the main content of an HTML
document which displays on the browser. It can contain text content,

paragraphs, headings, images, tables, links, videos, etc.
Syntax




<body> Place your Content here........ </body>

<HTML> 33r1: 38 &7 FT 3YINT §3eR A Ig adll & fov fomar sar & 6
Tg Th YR FH HTML &S gl 3igfeier &1 <html> 98 30 for@r gidar g
3R TS a1 </html> sfergaic & 3fEdr 7 forar giar &1 <html> &1 370
T HTML dcat & foT &R &

ey

<html>............ .</html>

<HEAD> 23T: SHT 39T GEAAST & HET #ET A1 G2 & v fohar Srar
g1 <head> dca AT (32T & IR F 321) & foIv T FR & 3R sq <html>
&3 3R <body> 91 & & @M SATAT §1 Acrser g&aaer v, e, Tpee
3R 37T AT FATHRT H aRIANT FaT &

ey

<head-............. </head>

<TITLE> &T: HTML <efi¥&> dea &7 39T e&drae & e #r aRenia
el & foIw forar arar g1 <efife> dca &t <head> dcd & &9 I@T AT
IIRT, 3R Tk gTadsl H had U fMh dcd g T gl

e

<head> <title> title name </title> </head>

<BODY> 2 HTML <dTsr> 9T HTML E&drasl T 7 asalt i gRemisd
AT & ST SR W YeiAd giar &1 38 gred arealt, R, v, R,
arfereere, forem, difsar snfe enfaer & I g1

Reed

<body> 39t AHIAT JGT IW...</body>

1 mark for any correct definition of each HTML tag.

OR

Explain Anchor tag in HTML with example.
HTML & UTa 9T &l 3c1gXuT afgd Tassy|

Ans.

Anchor tag: The <a> tag defines a hyperlink, which is used to link from
one page to another. It can create hyperlink to other web page as well
as files, location, or any URL.

href attribute: The href attribute is used to define the address of the file
to be linked. In other words, it points out the destination page.

T & <a> &7 Ueh geRice & RN #=ar &, fSasr 3uahr s 99 @
gaY Uof @l Toieh et & T fahar SIr §1 I8 30 99 9T & |IU-8r
TSal, TART AT fFdl IINT & AT gmicd a0 Fhdr &




href Tfesqe: href Tidege 1 3uANT foids T S dTell BISel & Id &Y
IRHT A & T fomar Sdr 81 g@r ersal &, I§ I1ded g6 @l g i
el

Syntax:

<a href = "........... "> Link Text </a>

Example:
<html>

<head>
<title>Anchor tag example<fitle>

</head>

<body>

<p>Click on <a href="https://www.computer.com/" target="_blank"> this-link
</a>to go on home page of computer science.</p>

</body>

</html>

1 mark for any correct definition of Anchor tag.

3 marks for writing correct example of Anchor Tag.

Give full marks if Example is written mentioning attributes of Anchor tag.
Ignore any spelling mistakes in Hindi as well as in English if the meaning
of the word is understood.

Q21

Explain E-mail service on internet in detail.

Seelc W §-Ad JaT & fardrR & aasmsd|

Ans.

E-MAIL (ELECTRONIC MAIL):
E-Mail or Electronic Mail is a paperless method of sending messages,

letters, video and graphics from one person to another or many people at
the same time via Internet. E-mail is very fast, easy and much cheaper,
takes only a few seconds to arrive at the destination. It works 24 /7 i.e.,
24 hours a day and seven days a week.

There are many free web-based e-mail services also available on the
Internet.

YAHOO! Mail (http://www.mail.yahoo.com),

Gmail (http://www.gmail.com) ,

Rediffmail (http://www.rediffmail.com) , etc.

Components of an E-Mail Address:




Internet e-mail addresses have two main parts:
XYZ.ABC@gmail.com

1. User ID (xyz.abc) that refers to the recipient’'s mailbox.

2. Symbol @ (read it as “at the rate”).

3. Host name (gmail.com), also called the domain name.

Sending an email message:

e Click on Compose button

e “To:” field: Type the e-mail address of the recipient in the. For
more than one person, e-mail id should separate by commas.

e “Subject:” field: Type subject of your message.

e “cc?” field: CC stands for "carbon copy". It allows someone other
than the primary recipient to receive a copy of an email.

e “Bcece:” field: BCC stands for "blind carbon copy". It's an email
function that sends a copy of an email to multiple recipients
without revealing their email addresses to other recipients.

e Click on Attach files for attaching file(s) and Insert Photos

e Click on send button to send the message.

B Send B Attach ~ () Emncrypt

i] Driscard =

To @ rMegan Boween =

wWhen you hawve a chance, can you share your latest sales figures?

Thamnks

-=F A B F L

E= - = o
§-A (FAFCiash A<):

$-AF I Selaclels Al Seleic & AIA § Th Afdd ¥ gl <afad a1 Tk
& THT H 5 AN F He2l, g, AfsAr 3R mithew A5t A te Ferer IR
fafer &1 $-#er 9gd A, I 3R Tgd FEAT ¢, TdeT dh g H Had S
AHs T &1 Tg 24/7 I @A & 24 "¢ 3R gearg & ardar A s aar
gl

geqele W &S To1:¢edh AG-3MRA $-Ae Jard o 3uelsty g

arg! A (http://www.mail.yahoo.com),

SAe (http://www.gmail.com),

WHAS (http://www.rediffmail.com) 37|

$-Ad Ud & UTH:
$TT -7 I & & qET HIT &
XYZ.ABC@gmail.com




1. 3UAWTHRAT IS (xyz.abc) ST UTCAshdl & AASIFH H TEBTd I ¢

2. 9 @ (39 "X W' & T & T)|

3. T 1A (gmail.com), I3 AT AH 8 Fgl ST gl

TF $AT U AT

o FHUIST deoT T fFolsh L

o "gfd:" Hies: UTedehdl &7 §-Hol IdT <89 Y| Tsh § 3% =afeaar & forw
AT ST FI 3eafaRTeT & 3erT Far J=r arfgu|
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1 mark for writing correct definition of Email.
1 mark for Components of an E-Mail Address.
2 marks for correct steps for Sending an email message:
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Ans

The Internet Protocol (IP) is a protocol, or set of rules, by which data is
sent from one computer to another on the internet. Data traversing the
Internet is divided into smaller pieces, called packets.

TCP/IP: TCP/IP stands for Transmission Control Protocol/Internet Protocol.
TCP/IP (Transmission Control Protocol/Internet Protocol) is a set of
communication protocols that define how data is transmitted over computer
networks. TCP/IP is the foundation of the internet and allows devices to
communicate with each other.

Characteristics of TCP/IP:

1) TCP/IP is a flexible protocol that can be used for a wide range of
applications, including web browsing, email, file sharing, and more
TCP/IP is highly scalable

2) TCP/IP is compatible with a wide range of hardware and software

platforms.




3) Multiplexing can be achieved through the number of ports.
4) TCP/IP is highly reliable, with built-in error checking and correction.
5) TCP/IP provides end-to-end connectivity between devices.

TCP/IP Layers:
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Application Layer: An application layer is the topmost layer within the

TCP/IP model. When one application layer protocol needs to
communicate with another application layer, it forwards its information to
the transport layer.

Transport Layer: It is responsible for the reliability, flow control, and
correction of data that is being sent over the network. There are two
protocols used in this layer are User Datagram Protocol and
Transmission control protocol.

Internet/Network Layer: It is the third layer of the TCP/IP Model and
also known as the Network layer. The main responsibility of this layer is
to send the packets from any network, and they arrive at the goal
irrespective of the route they take.

Network Access Layer: It is the lowest layer of the TCP/IP Model. It is
the combination of the Physical Layer and the Data link layer. Its main
responsibility is to the transmission of information over the same network
between two devices.
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1 mark for writing correct definition of Internet Protocol.
3 marks for correct explanation of TCP/IP protocol/model.




